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Topic:- English
1)

Question Stimulus :-
Fill in the blank with the correct option.

you put the jar back into the cupboard for me, please?
* Would
* May
e Should
e Might
Correct Answer :-Would
2)
Question Stimulus :-

Fill in the blank with the correct option.

I____  getinto these trousers any more. They're far too small for me.
e ought to
®* must
* can't
® can
Correct Answer :-can't
3)
Question Stimulus :-

Fill in the blank with the correct option.

Changing the course of the river cause serious environmental damage to the
whole valley.



* would

* must

e cannot

e might not
Correct Answer :-would
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The door opened and a nurse came the room.
* into
° in
o off
e beyond
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

There were a series of explosions and the van burst
* to
* for
e from
* into
Correct Answer :-into
6)

Question Stimulus :-

Fill in the blank with the correct preposition.

flames.



The good thing about exercise is that it burns _____ calories.
o off
* into
* to
e from
Correct Answer :-off
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The bells ring _____ regular intervals _______ the day.
e at, through
® in, from
® on, off
e for, in
Correct Answer :-at, through
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® The most happy marriage

e would be an union of a deaf man

* and a blind woman.

®* No error
Correct Answer :-would be an union of a deaf man
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e A man is the only creature

® that is endowed with

e the faculty of reasoning.

®* No error
Correct Answer :-A man is the only creature
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It is very difficult to find out

* the number of a creatures

® living on the earth.

* No error
Correct Answer :-the number of a creatures
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had warned me,

e I would not have told your father
* about that party.

®* No error

Correct Answer :-No error

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If he will ask me

e for help,

e I will definitely help him.

®* No error
Correct Answer :-If he will ask me
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Until the train will not

e get the signal,

* it will not leave the platform.

®* No error
Correct Answer :-Until the train will not
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Before he could
* understand anything,
e the robber have fled.

¢ No error



Correct Answer :-the robber have fled.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It have been raining

e continuously for the

* last one week.

®* No error
Correct Answer :-It have been raining
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, "Why are you working so hard”?

* The teacher asked the student why he has been working so hard.

* The teacher asked the student why is he working so hard.

® The teacher asked the student why he had been working so hard.

®* The teacher asked the student why was he working so hard.
Correct Answer :-The teacher asked the student why was he working so hard.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Mother said to the children, "I have often told you not to play with fire.”
e Mother told the children that she has often told them not to play with fire.

e Mother told the children that she had often been telling them not to play with fire.



e Mother told the children that she had often told them not to play with fire.

e Mother told the children that she have often told them not to play with fire.

Correct Answer :-Mother told the children that she had often told them not to play
with fire.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Neeta asked Meena, "What did you see at the south pole”?

®* Neeta asked Meena what she saw at the South Pole.

* Neeta asked Meena what she has seen at the South Pole.

®* Neeta asked Meena what she had seen at the South Pole.

®* Neeta asked Meena what did she see at the South Pole.
Correct Answer :-Neeta asked Meena what she had seen at the South Pole.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

A massive tribal welfare programme has been launched by the government in
Jharkhand.

e The government has launched a massive tribal welfare programme in Jharkhand.
® The government had launched a massive tribal welfare programme in Jharkhand.
* The government was launching a massive tribal welfare programme in Jharkhand.

* The government had been launching a massive tribal welfare programme in
Jharkhand.

Correct Answer :-The government has launched a massive tribal welfare
programme in Jharkhand.

20)

Question Stimulus :-



Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Are they receiving the chief guest at the station?

®* Has the chief guest been received at the station by them?

e Have the chief guest been received at the station by them?

e Are the chief guest being received at the station by them?

* Is the chief guest being received at the station by them?
Correct Answer :-Is the chief guest being received at the station by them?
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The principal will meet the students this evening.

® The students could be met by the Principal this evening.

The students will be met by the Principal this evening.

The students can be met by the Principal this evening.

The students should be met by the Principal this evening.
Correct Answer :-The students will be met by the Principal this evening.
22)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.

e When you buy a new computer, you usually get software included at no extra
cost.

e When you buy the new computer, you usually get software included at no extra
cost.

* When you buy an new computer, you usually get the software included at no extra
cost.

e When you buy an new computer, you usually get software included at no extra
cost.



Correct Answer :-When you buy a new computer, you usually get software included
at no extra cost.

23)
Question Stimulus :-
Fill in the blank with the correct option.
Thereis _______ salt and pepper in that container.
o little
* a little
® the little
* afew
Correct Answer :-a little
24)
Question Stimulus :-
Fill in the blank with the correct option.

The teacher has kept _____ books in the shelf.
°* few
°* afew
* the few
* a little
Correct Answer :-a few
25)
Question Stimulus :-

Fill in the blank with the correct option.

She passed me sauce that was there in the jar.

o little

e the little



e a little
¢ the few

Correct Answer :-the little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What does the word ‘forage’ mean?
®* Attack someone desperately
® Search widely for eatables or provisions
e Steam or boil vegetables

® None of the above

Correct Answer :-Search widely for eatables or provisions

27)



Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What was the name of the great character that was created by the renowned
comedian Charlie Chaplin?

e Music Hall artist

®* The great British comedian

The Little Tramp

e None of the above

Correct Answer :-The Little Tramp

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The "Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he



found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’'s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

Which word in the passage means ‘to take hold of something or someone suddenly and
roughly’?

e Grabbed
e Emerged
e Recall

® None of the above

Correct Answer :-Grabbed

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother



never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What was the reason of Chaplin’s disturbed childhood?
e Separation of his parents and low income of his mother
* Psychological iliness
e Harassment and torture at orphanage
® All of the above

Correct Answer :-Separation of his parents and low income of his mother

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’'s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a



motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What does the word ‘acknowledge’ mean?
®* To contradict
®* To deny the truth
* To accept, admit, or recognize something
®* None of the above

Correct Answer :-To accept, admit, or recognize something

Topic:- Hindi

1)

Question Stimulus :-
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2)

Question Stimulus :-
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3)
Question Stimulus :-
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4)

Question Stimulus :-
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5)
Question Stimulus :-
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6)



Question Stimulus :-
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7)

Question Stimulus :-
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8)

Question Stimulus :-
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9)
Question Stimulus :-
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mf & SRR & AT AT A E 9,
sivent § Y wET-wTe @ <d § 91
HG-AH-Td PT 311 dgd Jaa fean,
3 S € FroTel arR &t art R
E e ¥ T RraA 3} TA-wa,
g2, R, o, dwa & 2 ot X A
T A S F 99 T a7 U,

3 gft § 3 @ T IgEt F ud

AT oI 0, GHY UTHR o= ot
T 3t 3ft, wfa @t gl v off @t

P FT uGad e ghm?
o 3 3R wfa &1 fRa
* YRAQIRAT Pt AGHAT
o HHAR



* JqYZ SRI BI TMUT
Correct Answer :-&HdR

11)

Question Stimulus :-
"Il g H HIH-IT ST 82

o ait
LI |
e 3
° 3
Correct Answer :-3[@

12)

Question Stimulus :-

"R Iu e Weg WHg A @2
* GRIER, GaN
° TN, gRHTEH
® Y, gIaRI
* g, g
Correct Answer :-gITa®dl, gaxm

13)

Question Stimulus :-
f&d T arriw & fog o Weg 1 AT Sifee-
S X1 B FAT BT 2l

T )
* TR

° SHIY



Correct Answer :-33d

14)

Question Stimulus :-

AT Teg & T areis #1 w9 FRe-
o et Hd Y 3T &

foreft ®rf & Rorg Frdr 3

foreht wrd & forg simer=r e

frddt &t & forg wgwfa 3
Correct Answer :-f&f o1 & forw wgafa &

15)

Question Stimulus :-
BRIl R § HH-9T T 82

* =
° 3
« T
* 3
Correct Answer :-3

16)
Question Stimulus :-
‘Fora’ T b Xsg & 919 IS4 § ?
* W
* HGHH
o faRiyor
o fopur
Correct Answer :-fisar

17)



Question Stimulus :-
fosy’ &1 9 <sg Ugan-ie-
° gmﬁ'

Correct Answer :-3f3&
18)
Question Stimulus :-
qogd-odH I & P TP Y T 8, T I BT I HIOre?
o gii-afder
o gfar-afore
o UF-UEH
* 9§y
Correct Answer :-U=-ut

19)

Question Stimulus :-

IR 31 Rudards e 3-
o TR 5T
o I
* ¥le
* WEPRt
Correct Answer :-3T8

20)

Question Stimulus :-



fra 4 & #1¢ v vafgart wye @8 8, SuPT 9T Hifere-
* Udlg, TE, IY, LAY
* U, URR, @d, U
* TY, UMY, WG, SR
* T, ufd, ufe, gof
Correct Answer :-Udlg, §§, 94, q3ay
21)
Question Stimulus :-
UHT-TTSHT G-g7H & Tt 3rf-g &1 T+ #ifore-
* HE-Ga I
o fFdR-q
o SSHT-"eHT
o GRI-4RT
Correct Answer :-fFdl-gu=r
22)
Question Stimulus :-
‘Freum T &1 it fasde @-
o 7+ 3Um
e R + gum
e 1 + 3Um
o s + U
Correct Answer :-f: + U™
23)
Question Stimulus :-
givedg Treg # AfY gRf-
o R WY



o o WY
o foawf wfy
o T A B TR
Correct Answer :-fa@f €fd
24)
Question Stimulus :-
YYRITA’ TG § AT §-
. Ry wHE
* Fg WU
o U TH
. AT
Correct Answer :-3gdtHTd JH
25)
Question Stimulus :-
"SI’ Teg § HI-91 T ©-
* §g qu™
* PHYRY AN
o TG THN
o St U
Correct Answer :-$HYRYT T
26)
Question Stimulus :-
RPF Teg FR’ & g e § | e fawew &1 99 Fifore-
* W4

® HTdl



o fBR
* A BT TYJT
Correct Answer :-fagr

27)

Question Stimulus :-

Mo Teg U & forg i | | e e a1 wge Hife-
* g
o D
o JeflaHt
* §d
Correct Answer :-3sfta-t

28)

Question Stimulus :-

o fawedl & 9 T arew W €, WEl AT BT 99 BifT-
o 3umt sTeifarg B sTavawar 8
o 3P JTifATG ARSI §
o MU TeifarG SRS &
o 3D TEifaTe Saza® &
Correct Answer :-3Tu®1 JTifarg 3Tawa® g

29)
Question Stimulus :-

o ® & Te a9 Tad @, Tad IR $T 99 Pifere-
* T TR PU1 8
* YaTawIT S BT §
° ¢y T B IS T



o # IAUR ST &l
Correct Answer :-g¥ # 9 Us 41

30)

Question Stimulus :-

g3 famary g fb 3y sraxg mAA” # 91y T YHR Ugnu-
* I AN
o iy g
o TgF qTH
o T A IS T
Correct Answer :-fiy a1
31)

Question Stimulus :-

5 & & YR arR &1 T4 Pif-

o ¥ N TEHd T E

o & U WEHd §

o ¥ MUY FA WgHd ol BT §

o ¥ 3MUA T WeHd § T SNEHAd §
Correct Answer :-# 30 Wg9d §

32)
Question Stimulus :-
e # 3z ad=t vgafe-

o fufdpett

® ISIUrdl



Correct Answer :-3aRdr

33)

Question Stimulus :-
o o R e+ ugane-

®* JYRUT

Correct Answer :-34RU

34)

Question Stimulus :-

"3RG BT YT A Tg-RIE” Abifad &1 3 3-
o 3t ®) ST BT

3 ot SIfd 1 ST

o & faudta A
o T A BT HRUI AT
Correct Answer :-7U & fqudia =9

35)
Question Stimulus :-

“THSI A UR GHST A WY drdifad $T o 3-
* HOR Y7 HAT
* Fgd Hofd BT

el TRt 7 B

* ¢ Bl T U
Correct Answer :-3gd $od gl

36)



Question Stimulus :-

et @ S Hey T v o v Aeifea § Ak 8-
o g ¥ U
* 2P & A UId

® YT ITSIT YT YT

* A TH T & &

Correct Answer :-a+1 U& 9 &1 &l

37)

Question Stimulus :-
o e 31 94T Fifme-

"I ¥ BRI g1 afad dig Wi &1d a1 Hud w1 & Ugd R TIT 81 98 U+l Ahadl &1 fazary &t Joit granl 79

# gRA BT YT A &t vafia R ear g1 vaia snatft Ras-feasar ok T@-Foax &0 Rl 31 9§ 3

3y HY T Wi A dgg A e 81 urar uRome 1 gidr g fF SuF 1Y A us o €, U 9 ufa et vs

%11?%% m;wi?r;ﬁagﬁmmqﬁmW|mﬁmﬁm%amﬁmm$muﬁamﬁm%,m
B TR I”

o gy & i @

o eyl T AR
o g & 3w G
* U9 % gR ER 8 U & Siid Siid
Correct Answer :-T9 & gR 8K § U9 & i oftq

38)

Question Stimulus :-

o gt & T W BT T4 BifTe-
TP Tl Hew Tot, ufeR It Sl
& wHH o Argel, 9¢ et Sl

® GIdl
® AT

® JdddR



* HeErS!
Correct Answer :-dddik

39)

Question Stimulus :-
7 et & T S BT T Bifdre-
AT 9 WS 7, HRAT IAT YR 217

o 3ftem
o TiTw
o 3T 3R g
o T P
Correct Answer :-31 3R g3
40)
Question Stimulus :-
CANCELLED
fFrafafea & @ 5 srase Fa1 T 82
® AR
* UG
o Haur
o
Correct Answer :-3dm

41)

Question Stimulus :-

fafafea & & $19-41, 88 1 Hued a7 6l -
° HH
o U

e gfq



o 3
Correct Answer :-3fa

42)

Question Stimulus :-

I § Wi THR WS ardl HER UF GdHHE | $1H-91 82
o ¢ g
o TTyfY
o IFE U
* ITHRM
Correct Answer :-3f& HRSR

43)

Question Stimulus :-
AU A fAeaq arell veHE @« e 8-

o W g
* W S
o Ju-va #
* WA ARSI
Correct Answer :-@d goaad

44)

Question Stimulus :-
dE®! & I f favm fas & fifar ford wima &2

* HFD
o fadw g
o S ST g

* IHE IS g



Correct Answer :-3%gl 33U g

45)

Question Stimulus :-

g fof@a 6 areui=n # ¥ wyw g sifaw Af¥a & Av F IR FH A afRE Fifvm
(1) e st 3 Faa

(q) faard & =7t ferelt

() ® +ft 7 F foes

() 3iftrg wifeer 1 o= faurar

(@) fafdrs amt &

(6) -t Haw g

e gYdd
e gAXd
e gAY
e WIYT
Correct Answer :-g @3 d

46)
Question Stimulus :-
o fafea 6 arai=l & @ wuw T sifow ff¥a 8, v o Sfa ww § oafRa S
(1) gt & ferg
(7) e ok ex= &
(}) FNfF 9t =i
(@) Yifa® IR F WY B
(3) PIF R T or
(6) T HT YT HId &
* IYTY

e ¥dYd

® qUYdv



e gavd
Correct Answer :-9d¥d

47)
Question Stimulus :-
e S A1 ge 3 & g Sugd v -
® Execution
® Exempt
® Exemption
® Exhibition
Correct Answer :-Exempt
48)

Question Stimulus :-

‘Amendment’ & 1T Iugw 3= &-
o uftada
o R
o A=Y
o fafrimor
Correct Answer :-H3M4=

49)

Question Stimulus :-
AR yrer #Y oy ;- 32

* 3



Correct Answer :-3a- Rt

50)

Question Stimulus :-

f5a &= 3t Tt B BT BT TAT 72

o FigarsT
¢ IRI-UITTGR
e §ARA
o HIY
Correct Answer :-§9Rd

51)

Question Stimulus :-

JWIEH & AW T H YT & fAT eeeiieeeennes

o g
Correct Answer :-Hgled

52)

Question Stimulus :-
it Tofta a1 Fsifa uerd &1 auf=

* YATHP
Correct Answer :-auiHTrH®

53)



Question Stimulus :-

..................... F IR A= 1 3T 79 F I IsH, I, T<gd $1 TN 3R 35 71 1Y B

o IMERf I Y

Lv)

o T ST

ST YAy UTUSy

* S
Correct Answer :-3i. J&iHTY 9Ivsd
54)

Question Stimulus :-

"I T & YOG R BT A giHe-
o Had Ay
° 33T
* I NG
o X Azl
Correct Answer :-Igedl UG

55)

Question Stimulus :-

gfe Ay” B Bt wue e A F 8-
o I Y
o TP

qraHt & I

® HBIS BT YAl
Correct Answer :=%1é &1 9U-l

56)

Question Stimulus :-



aer, diuTé, waaT, WReT oS 3 wuwTaeh & i@ & fw & & BiH-w1 R R w@ g @2
e 3y fRM
o I frm
o uof fR
o fawmfe sty
Correct Answer :-quf fRm®

57)

Question Stimulus :-
“yrasPa” e § @ e geraR a1 ordf 22

° 3N YT

. Rag

o W guEd

o T A B T
Correct Answer :-3itR 4g

58)

Question Stimulus :-

TP ETY | ATl Tl Feret” 1 a3 g-
o TF Ty & TF & gt
o iz I SR & Bt 8
° TP IR § TSt FH T e
e IR gt
Correct Answer :-U& 3ii¥ & srTsT HH 78 gran
59)
Question Stimulus :-
ST 3AY YAITRT TR SEBR BT TG -
o I TEAT 21"



o “IRU HHA dq R IFI”

e iR Urd IR¥ 749 Sham”

* Ui U3l UEsl, Phd gd aR-aR 1"
Correct Answer :-"UTd 43t I8, IFd gd aR-aR|”
60)

Question Stimulus :-

“Hd TG AT FHMI, $eT Hiad T Hg 7 91" a6Vl o-
o Jffazaifed sRiPR o1
o fAHTEAT SRIPIR &1
o NP JABR BT
o fRIYTH SEPR B
Correct Answer :-3fi® SR BT
61)
Question Stimulus :-
&1 Hafg gl aret|
et IR AR gu fea v, g8 s & BN

q S Fefa 9o @1 9+ <Y, § 3 @it /@i
Pled ed ~garad iod, TRA-d Y3 @t~

59 39 1 SarEev 5-
o JGNT YR
* qrHg IH
o 3T IR
o T ¥ T T
Correct Answer :-a7cd 39

62)



Question Stimulus :-
wyd o v fRg 3 o Tear 82
o YR
* HHU W
® I0d I
o Sujaa aft
Correct Answer :-3udad 9+

63)

Question Stimulus :-
Jad o1 |y fade ghm-

o qdt+ard

o T+

o g+

o dt+amd
Correct Answer :-gdt+arf

64)

Question Stimulus :-
I qof §-

* i

* gz

°* 4™

* 3ty
Correct Answer :-dd
65)

Question Stimulus :-

CANCELLED



Correct Answer :-9

66)
Question Stimulus :-
Q=i # wO @-

o T AYTY

* JUGH TYSY

SUTGH dgvY
* HH AYSY
Correct Answer :-IUgH dgey

67)
Question Stimulus :-
1 Isg-gm & fawen A | Wt sif-3g &1 guq Pifve-
-

* qU-TYNTd

o JuH-fraw

o quUwN-RE

o JuH-Ria
Correct Answer :-qu&1-Ra

68)

Question Stimulus :-

g Wi ¥ 9t 3eg Sy & ugtaar §2



§
1
E
|

3
:
E
:

o 3Tdl®, 394, fgfs, TaT
Correct Answer :-3J a1, 3ged, 9GS

69)

Question Stimulus :-

Frofa o1 i gf-
o 3T
e ST
o fnffe
o 9 | BIg TE
Correct Answer :-378% 3 3 &

70)

Question Stimulus :-

............... , Rify afgsa <t gyw =41 81

® THMIUT

HETHRA

IR AR
o Tyt
Correct Answer :-Hgl4Rd

Topic:- General Knowledge
1)

Question Stimulus :-

A person cannot lose citizenship through . / % AfR
|l g1

& A1  ARTRGT T81 @l



® Foreign adoption / ﬁ%‘iﬁ 3itfieor
¢ Renunciation / oH
* Acquisition of another citizenship / f&=it 3= ANTR®ar & Siftrrgor
* Individual ability / SfRRTT &
Correct Answer :-Individual ability / SafemTa &war
2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below: / fra o

fang oik R fow T Fiel & I Ig IW BT IUA Y-

List-I List-II
1. Karnataka a. Lohri
2. Tamil Nadu b. Ganesh Chaturthi
3. Maharashtra c. Pongal
4. Punjab d. Mysore Dasara
-1 -1I
1. HIlch a. @
2. affaTg b. Torer agdf
3. HERIY c. UiTe
4. Ueld d. AR T2E

® 1-d,2-c, 3-b, 4-a

® 1-d, 2-c, 3-a, 4-b

* 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

Which among the following is the actual shape of Earth? / 4 ¥ 9 aag o Jdt BT PR P 13?2



Square / CL|

Oblate spheroid / <Ttd&l DIGIEY

Rectangular / 3TITd

Circle / @R ( M)

Correct Answer :-Oblate spheroid / TE&& Ty
4)

Question Stimulus :-

Which of these cannot be the same for two different persons? /E:Iﬁ J a?Fr T &1 a 3T Afea) § gHT

T8 B AHan?

e Skin Colour / TH T T

® Fingerprints / Gl'ﬂTﬁ s

® Eye colour / 3T BT 3T

® Blood Group / Ydd Tt
Correct Answer :-Fingerprints / Gl'ﬂa’f |
5)

Question Stimulus :-

Most powerful computeris ./ Y Siftre wrfa=mett W - %I
® Micro computer / 'FI'IE'sbaf PR
® Laptop computer / duery W
® Super computer / JUX T:FUET
® 4G computer / 4G P

Correct Answer :-Super computer / U DI

6)
Question Stimulus :-

Where was the first atomic power station in India established? / HRd ¥ T4H EELIL) Solt WM gl wifa faran
T Y1?



® Tarapur / dRTYY
® Thane /30

® Trombay / g
e Surat / qxd
Correct Answer :-Tarapur / ARTYY

7)
Question Stimulus :-

India’s permanent research station ‘Dakshin Gangotri’ is situated in . / HRd &I

R SFHYUH H5 ST T % fR@ 3|
® Great Himalayas / fazma fgume
® Indian Ocean / f3~G AGMNR
® Antarctica / 3THICHI
® Arabian Sea / 3R¥ WNR
Correct Answer :-Antarctica / 3<Tbiedl
8)
Question Stimulus :-

Kerala state is famous for which dance? /ﬁ_-'f a1 - CIi k| m %’?
® Break dance /aa? G:I'W
* Kathakali / By
e Dandia / Sif&ar
® Kathak / PYPh

Correct Answer :-Kathakali / SYDBI

9)
Question Stimulus :-

The Varanasi - Kanyakumari National Highway is ./ W@W@Hﬁ?@ﬂ
ISR §




® NH-15
e NH-2
e NH-7
e NH -47
Correct Answer :-NH -7

10)

Question Stimulus :-

Which of the following States is on the border of Kerala? / ﬁ'EI' o '\Q' 3”5"'_'[ T MY aﬂﬁ 1 THET ) %?

® Maharashtra/ TIE'RTg
® Goa/ Mar

e Tamil Nadu / 9fdd ATg
e Andhra Pradesh / 3y FI%R‘T
Correct Answer :-Tamil Nadu / Gf8d 91§

11)

Question Stimulus :-

Which of the following city is called as the Royal city? / Cek ko k)| IgR viad fdt & AW

ST ST 32
e Patiala/ UfedTer
e Shimla / Rr&eT
® Darjeeling / ETRIH%I"T
° Mussoorie/ﬂﬂ:\ﬁ

Correct Answer :-Patiala / Gfearar

12)
Question Stimulus :-

The extensive coffee plantations in Brazil are called

gl

/ weiter & fawiiof 1wt @d

Lgdiein)



® Fazendas /m
® Corrals / PINEH

® Estancias / E'\‘ET&I'Q'\‘I
® Trasil / ETRIA

Correct Answer :-Fazendas / TS

13)

Question Stimulus :-

Who among the following players is NOT related to Tennis? / /% & & P a1 fFardt T ¥ T=fRa T8
37

® Martina Hingis / HIfdAT %ﬁﬁ
* Venus Williams / 999 diefiawg
e Andy Murray / T8t #¥

® Tiger Woods / TSR 484

Correct Answer :-Tiger Woods / TSR 4

14)
Question Stimulus :-

Which game is related to Agha Khan Cup? / P T QS AR @ $Y F ST gl %?
® Hockey / 3'73&
® Chess /T
® Cricket / fopthe
* Volleyball / aTeaTd
Correct Answer :-Hockey / B!
15)

Question Stimulus :-

Srikanth Kidambi is an Indian badminton player, who became the first Indian male to win gold at the 2015 Swiss

Open Grand Prix Gold by defeating /WWWWWW% ST 2015 # a9
3o Tis fire s # wavf sftaq ard ved WRdlag 99 1 3519 99 A | fd gvman un?




Iskandar Zulkarnain Zainuddin / §¥P g \_{[a?b_‘lﬁ"_‘[ aﬂ?ﬂq

Huang Yuxiang / EGIT'T o=

® Prannoy Kumar / P PHR
® Viktor Axelsen / fd@@¥ QT\Q’Q_@FT

Correct Answer :-Viktor Axelsen / fdge? TaieH

16)
Question Stimulus :-

Tennis star Roger Federer hailsfrom____ . / T TR ISR e y . & fartt %'I
® The USA / 3W&T
® France / Wi
* switzerland / f&eoRds
® Theuk / faea

Correct Answer :-switzerland / f&coRds
17)

Question Stimulus :-

Who is the first Indian woman chess player to cross 2600 ELO rating? / 2600
ELO 337 UR %3 arelt ugdl YR afgen aRs fQ{arst &1 82

® Sania Mirza / grfear fst

e Tania Sachdev / dTf~/AT T<eq
® Saina Nehwal / ng:lT ﬁm

® Koneru Humpy / PIHe gadl

Correct Answer :-Koneru Humpy / ®9% gaft

18)
Question Stimulus :-

An indirect instrument of monetary policy is / 3nfde Hifa &1 sruc & "HreaH %?

* Bank Rate / §& STurd



® Repo Rate / feat STurd
® Open Market Operation / T dTSIY AT
® None of these / s=|1?r J aﬁé qﬁ

Correct Answer :-Open Market Operation / el dTSR =T

19)
Question Stimulus :-

Which among the following is also called Green Gold / g dafea BQT'\‘ﬁ-'ﬂ ot Dol \_:I]?IT%
e Coconut / TRTA
® Sugarcane / AT
* Coffee / BIWI
® Tea/dlU

Correct Answer :-Tea/dld

20)

Question Stimulus :-

Who is the current Chairperson of the State Bank of India? / R = dP > CREICRE| el CaC %?
* Smt. Arundhati Bhattacharya / STt & Ut 'HEWT&
® MS Raghavan / TH T ITYd
® Vijaylakshmi R. Iyer / foogaetft o, s
® Kishore Kumar Sansi / f&=IR PHAR i<t

Correct Answer :-Smt. Arundhati Bhattacharya / SIWel &t wgrard

21)

Question Stimulus :-

Who is the director of the famous Bollywood movie “Sholay”? / s ai%ﬂgs frer M & ﬁl%&'lﬂ? P %'?
® Ramesh Sippy / Ju=r fRyudt

® Ram Gopal Verma / ITH INIGECE ]



® Yash Chopra /4Rl T’-ﬁ'q?;T
® Karan Johar / hIUI \_rﬁg?

Correct Answer :-Ramesh Sippy / THRT firuft

22)
Question Stimulus :-

Which Indian soldier was known for using the slogan of ‘Ye Dil Maange More’ as a signal? /B ¥ YR e
Ui & w0 § 4 fdd AR AR AR BT Y40 S F g §E T A2

® Lance Naik Hanumantappa / €I TI$ eJHTICWT

® Sam Manekshaw / A AEHT

Captain Vikram Batra / WA faspu &=
® FM Kariappa / THUH B3l

Correct Answer :-Captain Vikram Batra / @ fashd a1

23)

Question Stimulus :-

Who coined the term “Cyberspace”? / m Mo o fAafdfa fear
® Larry Page / Y U
e Bill Gates / fa@ feq
e William Gibson / fafera® frea=
® Steve Jobs / 1T SIeq

Correct Answer :-William Gibson / faferaq firsa=

24)
Question Stimulus :-

Who among the following Pakistani Presidents called Milkha Singh “"The Flying Sikh”? / IBE]
uifeea™ & wpufa & A fFaa ficar Ris o 'wsw R w812

® Ayub Khan / 3d @H

® Yahya Khan / 9iall @4



* Pervez Musharraf / TRA¥ IR
e Benazir Bhutto / §99IR Y&l

Correct Answer :-Ayub Khan / 399 @M

25)
Question Stimulus :-

Who was the first Indian to win the Mr. World title in 20162 / 2016 ¥ fReX dcs IUIfY Sidaare guHq
YRAH B 4?

® Rohit Khandelwal / Jtfed @Sadrd

® Aldo Esparza / TS THTSA!

e Raman Khandelwal / TH- WS adTd

® Ranganath Khandelwal / 1Y gsaard

Correct Answer :-Rohit Khandelwal / Qfgd TWadarda

26)

Question Stimulus :-

. / YRag

The official playing time of the Indian National Anthem is approximately

T T Pt enfieie AT Bt oraf 3 AHT___
¢ 1 minute 2 secs / 1 fiqe 2 AFs
® 52 secs / 52 qHS
® 1 minute / 1 fiqe
o 425ecs/42ﬁﬁ

Correct Answer :-52 secs / 52 9§

27)

Question Stimulus :-

Which among the following is highest designation in Indian Navy? / fFrrafafEa & ¥ uRda A9 & ga= Uq
DI AT 72

® Lieutenant / aftea=<

® Commander / FHISY



e Captain / PPT

* Admiral / USftR@
Correct Answer :-Admiral / QE‘&IW
28)

Question Stimulus :-

How many women Prime Minister/s has India had? / 35 d& HRd CARC L 'FI'I%?IT g ??"T

&2

® None of these /g:lﬁﬁ mqﬁ

Correct Answer :-1

29)
Question Stimulus :-

Gandhiji wanted that the students should spend their vacations in ./ it T:]TE% Y for Bl &
o 3ot ggrai faari arfgul

® Sports / qd

® Studies /ﬂ?.f'lg

® Social service / JHTST Jdar
® Tour /ITAT

Correct Answer :-Social service / JHTGI Jdar

30)
Question Stimulus :-

Who is known as the Iron Man of India? / HIRd é? ?ﬁ? =y % >q ﬁ ﬂﬁT-I' SITHAT SITdT %?
e Sardar Vallabhai Patel / GYGIR GeHHTS Ued
® Morarji Desai / ARSI aﬂ'l_&c



® PV Narsimha Rao /Tﬂﬁ :R'ﬁﬁ%T q

® Atal Bihari Vajpayee / 3cd faert arerodt
Correct Answer :-Sardar Vallabhai Patel / JRGIR GeAHHTS Ued
31)
Question Stimulus :-

If you landed at Sardar Vallabhbhai Patel Airport, which city would you have landed in? / g 3y WReR

TEAYHTS USH §aTs 37§ W Iavd g, al 37 fory =er # Iav 82
® New Delhi /S facei
® Mumbai /4%
® Chennai /998
 Ahmedabad / GHGIATG

Correct Answer :-Ahmedabad / 3[gHGIdIG

32)
Question Stimulus :-

PM Narendra Modi was invited by which country for the inauguration of Salma Dam? /

YU % WIS B DI | S §RT THT §1Y BT IgUTed A & g smwfa faar?
® SriLanka/ Stciol
® Afghanistan / STTRTTFRATT
® Pakistan / GTfoheaT
® Russia / &

Correct Answer :-Afghanistan / STWRTT-EITT

33)
Question Stimulus :-

How many Indian badminton players had qualified to participate in the 2016 Rio Olympics?
/ 2016 R4l 3iefie & 4T A9 & T WRd & fraa dsfiies faefsal 3 srdar urd &1 82

e 9
5



o 7
e 3
Correct Answer :-7

34)
Question Stimulus :-

Who was the Miss World in the year 2000? / 99 2000 F fir ae8 #1 02
® Aishwarya Rai / Q”H’*Tf NE|
® Priyanka Chopra / frder iﬁ'q_é'.T
® Agbani Darego / ST M

® Yukta Mookhey / gl 'ﬂ@
Correct Answer :-Priyanka Chopra / fSRI®T EILE]

35)
Question Stimulus :-

The IIFA award ceremony was held ip June 2016 in Madrid, Spain. /
IIFA TSR ARG S 2016 Afgs, W | o far war i

o 11th/ 11
o 13th; 137
o 17th/ 177
o 19th; 197
Correct Answer :-17t / 173

36)

Question Stimulus :-

Who recently took over as Britain’s second woman Prime Minister? / GT¢l i ﬁ fsres @t §'\‘T\ﬂ' 'FI'%FIT JYUTTHAT
9 arell wigar #i 82

® Theresa May / RET A
® Nicola Sturgeon / frar wefhara



® Harriet Harman / %ﬁ? _[-.'Ta:[

® Angelia Eagle /@m gTIF[
Correct Answer :-Theresa May / 3¥9T A
37)

Question Stimulus :-

The first ever BRICS Employment Working Group meeting in 2016, was held at . /2016 ¥ Ugelt foe

(BRICS) TaATgHe afdt gu Hifén sl smafera ot g 2
® New Delhi /S faeei
® Moscow / ATEHI
® Hyderabad / %ETWTE
* Beijing / ST
Correct Answer :-Hyderabad / 3G3T9TG

38)
Question Stimulus :-

How many members are there in the World Trade Organization (WTO) ./ fay =R "

(g8 A fpa wem@d |
e 145
. 164
e 160

150

Correct Answer :-164

39)
Question Stimulus :-

World ‘Water Day’ is celebrated every year on . / fay va RRaw’ &= 9 9 #w=man winar 82
® March 20 / HTH 20

® March 10/ 'Fl'ﬁf 10



e March 12/ 9Td 12

® March 22/ ATY 22
Correct Answer :-March 22 / 9T 22
40)

Question Stimulus :-

India’s first "White Tiger Safari’ has opened in State in India? / YRd &1
UYH ‘g 919 BRI URT o I o gl gl

e Uttar Pradesh / 33} 'L'I%'QT

® West Bengal /m CRI

® Tamil Nadu / 0@ qarg

® Madhya Pradesh / H] T

Correct Answer :-Madhya Pradesh / ey

41)
Question Stimulus :-

On which of the following rivers is the Rana Pratap Sagar dam built? / I YdIY 9FR §iY
g o 9 59 7 R 99T T 82

® Ken /&
® Betwa/ Sddl

® Chambal / 9@

® Narmada / 7'“131

Correct Answer :-Chambal / I49d

42)
Question Stimulus :-

Which city is known as the ‘commercial capital’ of Madhya Pradesh? /B AT REX 4 H%QT & arforfeus
YT F Eq § AT SATT 82

e Bhopal / HIUTA
® [Indore/ E_a?




® Jabalpur / STd¢TYY
® Gwalior/ TTfOAR

Correct Answer :-Indore / 31X

43)
Question Stimulus :-

The Finance Minister of Madhya Pradeshis___ ./ HYH !]'a'EZT o fomt w5 %._I
® Babulal Gaur / dTqclTel R
® Jayant Malaiya / S| weT
® Gopal Bhargawa / MUTd UG
® Umashankar Gupta / SHTRIDR Gl

Correct Answer :-Jayant Malaiya / ST9d HergT

44)
Question Stimulus :-

Bateshwar group of temples is located in__ ./ a%’lﬂ Hfez qYe _ﬁ @ %I
® Ujjain /S&H
® Morena/ 'ﬁa_'ﬁ
® Khajuraho / Ew

® Ratlam / IddH

Correct Answer :-Morena / G¥T

45)
Question Stimulus :-

Base of Hexadecimal system is ___. / WS YR tgufd 199 ____ B
o 2
e 10
e 16



e 32
Correct Answer :-16
46)
Question Stimulus :-
Which river is often called ‘Dakshin Ganga’? ACT:| qff 3| ‘E'fEI'UT TP & 91 A A %'?
® Yamuna / YTl
® Godavari/ Tﬁ?ﬁﬁ
® Brahmaputra / Se1Ya
® Narmada / qﬁﬂT

Correct Answer :-Godavari / MGrast

47)
Question Stimulus :-

Myanmar is also known as / AR &1 'l-ﬁﬁTGﬂ?lT%

® Burma / ¥Hi

® Mongolia / FITMemT

e Bhutan / Y2

® Vietnam / ICECRIE]
Correct Answer :-Burma / SHI
48)

Question Stimulus :-

Minimum contract size in equity derivatives segment in India is / HRd & E{@iﬁ

afea TS # 3% &1 gAdH AEw ¢

4 lakhs / 4 dTd

8 lakhs / 8 TTE

10 lakhs / 10 dTd

5lakhs / 5 9



Correct Answer :-5lakhs / 5 dId

49)
Question Stimulus :-

“Shaurya”, an Indian Coast Guard Ship (ICGS), has been launched by which shipyard of India? / "Qﬁ'&", \_rﬁt‘ﬁ? YR

TeREP STETST (TSI 8, fpe Wt Ui winTor gRT 7= fban ran &2
e Goa Shipyard Limited / Tar gid "iwTor fafics
® Naval Dockyard (Vizag) / IO STHATS (dHET)
® Cochin Shipyard Limited / @Iei+ did Uivror fefres
® Naval Dockyard (Mumbai) / TIRIHT §ETTE (T3)

Correct Answer :-Goa Shipyard Limited / a1 Uid uirf farfees

50)
Question Stimulus :-

Who is the author of 'The Queen of Jhansi' (Jhansir Rani), published in 19562 / 1956 s |
THIRIE, 'S BIH TE AR (FRR T+ & d@® i 82

® Jaishree Misra / St R

® Christopher Nicole / frwiwr Fea
® Sohrab Modi / m 'Fﬁ?ﬁ

® Mahasweta Devi / II?T%T'IT aTﬂ

Correct Answer :-Mahasweta Devi / HgIHdT a4t

51)
Question Stimulus :-

Choose the correct answer. The multiplicative inverse of -11/13 is . / I8 FW _'g[ﬁ'al -11/13 I

TS U g |
® 11/-13
® 13/11
® 11/13

e -13/11



Correct Answer :--13/11
52)
Question Stimulus :-

: 2

fat+b+tc+d+e+ =ik
at+b+c+d+e

find the vale of (a+b+c+d+e) +- 1 .
(a+b+c+d+e)

1
at+btctd+e

E* 1

I a+b+c+d+e+ (a+b+c+d+ef +-
" la+b+c+d+tef

& AT =ahilerr

s

e 1
e 1/2
e 2
e 0
Correct Answer :-2

53)
Question Stimulus :-

State the degree of the following algebraic expression. 9x 2y6 -5 xsy- 5x° y2 / Ta demiordta siftais ot f$it

o 7
e 6
e 8
e 9
Correct Answer :-8

54)

Question Stimulus :-

The complement of 56° 0 /56T & 0

* 80



* 124

* 44

* 34
Correct Answer :-34
55)
Question Stimulus :-

If “'9'¢ AEB =140°, what is the measure of angle AED? / a2 $1T AEB =140°, T FHlvr
AED &1 HIY T 8?

A i

Do [

* 140"

o 220"

o 40°

e 180°
Correct Answer :-4¢°
56)

Question Stimulus :-

A dealer packed matchboxes in a circular box, while the other packed match
boxes in a trapezoid shaped box. Empty space will be in the
and hence the capacity of it is

/@
AR = JeR e # A & et i@ o= 123, wﬁsgﬂ%#ww%ﬁ%@ﬁmﬁv%%@%
53| @rh e | BTt 3N} SHferd IHPY T grft

® less, circular, more / XITPIY, HH, SIQI
® less, trapezoid, less / JUAITYH, FH, FH
® more, circular, less / GQXITPR, SUlql, HH

® more, trapezium, less / T, SIGI, PH



Correct Answer :-more, circular, less / GXITPIR, SUIql, PH

57)
Question Stimulus :-

The capacity of a water tank is 900 liters. If its height is Sm, what is the surface area required to place the tank?
/ U & E@t BT &HaT 900 e g AfS SHH SHars 5 HI §, A1 T B 7@ & o) g¥a SFmd w1
82

* 4500m’> / 4500 H}2

* 180 m*> / 180 HI2

e 580 m*> / 580 HI2

* 360m> / 360 HI2
Correct Answer :-180 m? / 180 Hi2
58)
Question Stimulus :-

A boat can travel with a speed of 15Skm/hour in still water. It travels in a stream which flows on a speed of Skm/hr.
What is the time taken by the boat to travel 60km down the stream? / U HId 15 ﬁﬂ:ﬂ/ HUe & a7 9 fRR 5
H gT= B IPdl ] 98 5 fhHl/°ue P A & Uare B I8 T URT H araT Bl 8] 9RT # 60 fHHt g
A & o 19 Y fpa- qwg @m?

® 3hrs/3 YU
® Shrs / 5 YU
° 6hrs/6‘ﬂ'°é'

5.l 51
° Shrs/ 3 9ud

Correct Answer :-3hrs /3 90¢
59)

Question Stimulus :-

What is the range of the following data? Data: 40, 35, 20, 15, 60 80,75, 95, / g s1er &1 uaR @ %? SIcl :
40, 35, 20, 15, 60 80,75, 95,

e 95
e 15



e 80

e 55
Correct Answer :-80
60)

Question Stimulus :-

Which of the following points lie in the third quadrant of a graph? / 9Th & dR ﬂﬁ?-lf-‘ﬂ #ffgddasaa
fig Sufeua v&d &2

* (1, 7)

* (-5,-8

* (-6,9)

* (6,-7)
Correct Answer :=(-5, -8)
61)

Question Stimulus :-

A given mass of wat%r has its maximum density at / 5@ & t& Af¥d gsoaa &1 siftrman
U 'C3

« 0°C
e 0K
« 49C
e 4 K
Correct Answer :-4 9C

62)
Question Stimulus :-
Mass numbers of elements are always whole numbers but Atomic masses are not. This is due to the existence of /

Tl B FIHT-IBATE SHT IUT TBATT Biel & AfpT wRATu-Heferat 8t gidl | 98 39 Sif&ia &
ST T 3

® Allotropes / 3U=U



* TIsotopes / THRIT®

® Isobars / HHQIH

* Isomers / HHTGYA!
Correct Answer :-Isotopes / TARIT®
63)
Question Stimulus :-

aD;uring electroplating of silver on an iron spoon, / T& die ! 9Wd W 9idl & fagaq au=

® mass of the cathode increases / S UIS BT SUAM d¢ SIldl %

* mass of the cathode decreases / $4IS HT SHHAM Ue HAT &

® mass of the anode increases / Q‘ﬁ%’ BT GHHTH dg SIldl %

® concentration of the electrolyte increases / sﬁa@ms‘d T HIigUl 9¢ STdl g

Correct Answer :-mass of the cathode increases / $UIE T AT d¢ STdl &

64)
Question Stimulus :-

The colour of phenolphthalein in basic medium is / R Arew § e Nawdef| s1 31 8
° Pink/ﬂ?l'lﬁ
® Red/dIldd
° BIue/=ﬁ?|T

® Green /BRI

Correct Answer :-Pink / T[@Td!

65)
Question Stimulus :-

Copper Sulphate solution cannot be stored in an Iron container because / 1R

Tebe fAferaa &1 &g &y ¥ wue T8 far o goar @ wife
® Iron dissolves in copper sulphate solution / FﬁBT PR Tebe faaa— A PGRYIGH %I



. Irog crystallizes as ferrous sulphate / g %% Jdbhe & ¥U A fhedipd &l
ST B

 Iron forms Ferric sulphate and forms a suspension / @igr B® debe
ST ¢ 3R freies s rar 21

® Copper is more reactive than iron / dTdT ?ﬁ% @t GG A srftre sifuferarsiia %I
Correct Answer :-Iron dissolves in copper sulphate solution /Fﬁ?T HIR gotbe faea- A Yol SITdl %I
66)

Question Stimulus :-

A Metal that burns with a bright white light on heating to its ignition
temperature is / 98 U S Ysa@=-dY dF TH HI TR TUSIA b UHIR & TIY Sieal 3

* Sodium / HIfSTH

e Potassium / WeR™AH

e Calcium / fexmgw
° Magnesium/'a":ﬂﬁl'm:[

Correct Answer :-Magnesium / A RAH

67)
Question Stimulus :-

Which is the stage in cell division, the changes of which are the opposite of prophase?

/ DT fauTeT ot 95 S 91 s §, s uRiad= uibw & faudia &2

Interphase / Sc3bl
Metaphase / AeThA

Telophase / B
Anaphase / QT-ITQWT

Correct Answer :-Telophase / ¢@lths

68)
Question Stimulus :-

New blood cells are formed in / T8 Iad PP H g1 &



e Bone marrow / HwIl

* Liver / 9dd

® Heart / §cd

® Lungs / m
Correct Answer :-Bone marrow / HsIl
69)

Question Stimulus :-

The male and female organs in Moss plants are called as / A9 Nl § % 3R HigT

3T HEAM .
® Androecium and Gynoecium /Q'f[Tl 3R ST
® Antheridium and Oogonium / @ﬁ%’qﬂ' 3T 3rSer
® Antheridium and Archegonium / @ﬁ%ﬂﬂ Gﬁ?' TATYTY
® Male cones and female cones / I} W \’tﬁ? HTgl 3!'@?

Correct Answer :-Antheridium and Archegonium / TRTfEaH 3R Ty

70)
Question Stimulus :-

The science which deals with the similarities and differences in organisms is /de ﬁ*{l'l_"l S Sftal @t

AT AR SR P Y GERE Y
Ecology / Ui fRufafamm=

Genetics / TR

Heredity / 3TJafRrepdT

Eugenics / goH-®1

Correct Answer :-Genetics / 3TJafRI®1

71)
Question Stimulus :-

A cricket team consists of 11 players, in which a player weighing 42kg got injured and was replaced by other
player. As a result of it, the average weight of team increases by 100 gram. Find the weight of new player. / frdbhe



P TH A9 A 11 fAarS) € A [ 42 f5U1 997 919 v FRaars) &) die & 1 3R IHs w4\ fadt e
faars &1 @ forar T | s9% uRumreaeu, S & Raafsal & siaa ao9 A 100 9 Ft T3] 81 it | 9U
fearSt FTavA FTa B

44kg / 44fpairama

42.1kg / 2.1fFaIma
43.1kg / 43.1fpaMH
44.4kg / 44.4feITH

Correct Answer :-43.1kg / 43.1f%aumH

72)

Question Stimulus :-

Mr. Joseph shared his investments in his children’s names in the ratio 4:5 and the total
amount is Rs.72,000. What is the investment share of the 15t child? / &t S9® 3 MU+
R A 4:5F Srgura ® v g= & ATH W 130 fhuT T $a I 72,000 o 31 UFA g b AIH W
o= &1 fopa fvmr 82

42000

50000

32000

45000

Correct Answer :-32000

73)

Question Stimulus :-

13/14™ of 56 / 56 BT 13/14N %:

52
58
63
72

Correct Answer :-52



74)

Question Stimulus :-

Remainder when you divide 471 by 16 is / 79 3T0 471 B 16 ¥ AU F34 § oY Aw:
.7
. 8
e 5
e 0
Correct Answer :-7

75)

Question Stimulus :-

In present ages of Palani and Karthi are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their

ages will become 11 : 9 respectively. What is Karthi’s present age? /aaHT ® gat iR Pifef ot ST hHRT: 5:

4% Jrgurd A g1 3rd: i T H IS AT BT SAFUTA BT 11 : 9 8 ST | FFHT | BIfel Y 3y fpait
03

® 21 years /21 T4
® 24 years / 24 CL
® 26 years /26 ay
® 30 years /30 a4

Correct Answer :-24 years / 24 94

76)

Question Stimulus :-

The ratio of the present ages of two sisters is 1 : 2 and 5 years back, the ratio was 1 : 3. What will be the ratio of

their ages after 10years?/mﬁﬁaﬁﬁaﬁm3ﬂ3ﬂmﬁl:Z%GﬁTSWq?a,ﬁqml:S?ﬂl 10
ATE TG D! TG BT U HT §RM?



Correct Answer :-2:3

77)
Question Stimulus :-

If Rs. 2,80,000 is the 2/7 percent of cost of a house, then the value of the house is / gfe Th AHME PI dRTd
BT 2/7 UTART 2,80,000 To §, 96 HBTH BT YU @

® Rs.9,80,000
® Rs. 8,00,000
® Rs.10,00,000
® Rs.12,00,000

Correct Answer :-Rs. 9,80,000

78)
Question Stimulus :-
Fill in the missing alphabets / W &R yikg

a__abaa__baaa___
® b,b,b
® aab
® b,a,a
® ab,a
Correct Answer :-a, a, b

79)
Question Stimulus :-

31% of 400 is / 400 FT 31% g:
e 124
e 134
. 144

« 154



Correct Answer -124

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / 9 IR yal # & 19 91 = fed 1 vd & TheH IHH 8] 82

Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906-5779

(i) Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906-5779

(ii) Arthur Muray Dance Studio

256 Hayne St N
Blackville, SC 29017

(866) 906-5779

(iii) Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906-5779

(iv) Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906-5779



Correct Answer :-ii

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other
three? / A9 IR Ual & | 1 A1 TP 991 dF & THeH TUMH 7ol 82

Technical Information Ltd
No. 12, Natal Raod
Belgravia

P.O. Box 4620

Harrare

ZIMBABWE

1. Technical Information Ltd
No. 12, Natal Raod
Belgravia
P.O. Box 4620
Harare

ZIMBABWE

1. Technical Information Ltd
No. 12, Natal Raod
Belgravia
P.O. Box 4620

Harare



ZIMBABWE

1. Technical Information Ltd
No. 12, Natal Raod
Belgravia
P.O. Box 4620
Harrare
ZIMBABWE

1. Technical Information Ltd

No. 12, Natal Raod

Belgravia
P.O. Box 4620
Harare
ZIMBABWE

e i

e i

o il

e iv

Correct Answer :-iii

82)
Question Stimulus :-

If a man is running at a speed of 18 kmph, what is the distance traveled by the man in 5 min? / '!T% Udh fekT 18

foreit uferder $t wifa & dtgar g ot 5 e # ag fosaeit gt ot a1 Fat 32
* 1000 m / 1000 HIeX
* 1500 m / 1500 HieX
* 2000 m /2000 HeX

e 2500 m /2500 Hex



Correct Answer :-1500 m / 1500 HIex

83)
Question Stimulus :-
A manufacturer manufactured cycles by spending Rs.1200 each. His overhead expenses was Rs.200 for each
cycle. He sold 5 cycles of Rs.1850 each cycle. What is its profit? / T IcUTgh ER' LD vrréw TR =g 1200
T B & HISHdl PT IATSH fHaT| TP AISPpd W IHBT U o9 =4 200 UT| I 5 TS Pal Bl
T 1850 UA® | 99 far| 37 fova=m ey gam?

® 2250

® 2350

® 2450

® 2550

Correct Answer :-2250

84)
Question Stimulus :-

Find the next term in the series 2,12,3,23,4,34,5, ___/ %@d ¥ 3[TAT UG {Td DI 2,12,3,23,4,34,5,
e 35
. 45
e 55
e 65
Correct Answer :-45

85)
Question Stimulus :-
Find the next term in the series. / 4T § 3[TeAT g JTd aﬁﬁﬁ

3, 4, 13, 38, 87, 168,?
® 295
® 292

® 289



® 290
Correct Answer :-289
86)

Question Stimulus :-

In a certain language ‘hist men polt’ means ‘my history book’ and ‘polt hosg disa’ means
‘history of India’ . Then in that language the word ‘polt’ is used for: / &t @ HTWT A “hist
men polt’ &7 Hdeld g ‘my history book’ 3R ‘polt hosg disa’ &1 Hddd [ ‘history of India’l a
B‘HWﬁW‘polt’?ﬂﬁimmiﬁm%:

* my
® book
® history
® India
Correct Answer :-history

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /e feamd 1 w9 o SpTelt GITE{?I%[ P At ghft?




Correct Answer :-

88)
Question Stimulus :-

Introducing Rahim, if Saira says, “Rahim’s brother’s father is the only son of my grandfather”, then, how is Rahim

reIatedtoSaira?/WWW%&@,H’%WW% “W%%%Wﬁm%%ﬁ%ﬁ
&, @), 76U QI3 A A Tdfia @2

® Father / IEGI
® Son/ ad
® Uncle / 3i®d

® Brother / ‘-IT&F

Correct Answer :-Brother / HTS

89)

Question Stimulus :-

A + B means that A is the husband of B / A + B@THAAs 2 f% A, B@TUfM &
A > B means that A is the sisterof B/ A> B ST Hdad e & A, B #1989 ¢
A = B means that A is the father of B / A= B #THAAs 2 % A, B & a1 §

A - B means that A is the motherof B / A - BWW%%A, BHﬁIITEIT%

If the relationship between P and T is represented asP=Q > R - S + T, then, which of the
following statements will be always TRUE? / AR PIRTHF I FTIGYP = Q>R-S+T q

=it €, @Y, Y # A S |1 $YF gH% I g



e Qs the father of S. / Q, S & T &1

* T isthe grandson of P. / T, P &1 Uidl B

* SisthesonofQ./S, Q®Idclgl

* T is the daughter-in-law of R. / T, R &1 §§ ]
Correct Answer :-T is the daughter-in-law of R. / T, R &1 98 gl
90)

Question Stimulus :-

Find how Alam is related to Nur Jahan, if he says, “Nur Jahan is the wife of the grandson of my mother.” / UdT

TSy & Sraw TR Wl @ P ARG g, i 98 Pear &, <X 96l A} AG1 F UId B Ul §1”
* Father / fUdr
® Grandfather / GQIGl
® Husband / 9fd
® Father-in-law / IgI
Correct Answer :-Father-in-law / I

91)
Question Stimulus :-

Which of the following is the mirror image of CABINATE? / <19 & & I HI cABINATE &1 gUur ufafar &2
CI'VEIMVLE
CVEIVULE
BVCIVILE

CVBIMVLE

CVBIMVLE

Correct Answer :-

92)

Question Stimulus :-



In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / 9 U9 ¥, UgQd W &1 gWR W & 1Y fHf YR A I3 Wy g1 afe R g F1 9 g &
1Y I PR HT HaY gHT A1, o AT e HIT:

Reveal : Disclose :: Autonomy : ? / UHc : ™I :: WAl & ?
® Slavery / ﬂ?ITFﬁ
® Dependence / frrRar
* Liberty / SdAdl
® Machine / a=h=

Correct Answer :-Liberty / STdadl

93)

Question Stimulus :-

How many different ten letter words can be formed using the letters of the word ‘STATISTICS’ if repetition is
not allowed? / If¢ GARTGIRT Bt AT 76l & FTT AT ‘STATISTICS’ Xeg P M &RT BT YINT Hed g fova= fua
TYHR & GH 3H&R dqTel Xeg! BT f-AT01 fomaT ST wavdll &2

® 25200

® 75600

® 50400

® 100800

Correct Answer :-50400

94)
Question Stimulus :-

What is the day on 1 June 2080? / 1 S 2080 H! I T a1 g2
® Monday / TqHaR
® Tuesday / HITAAR

® Saturday / I arR
® Thursday / AR



Correct Answer :-Saturday / RI¥aR

95)

Question Stimulus :-

Four officers are posing for a photograph. Shekhar is immediately to the left of Ranjit. Manoj is to the right of
Shekhar. Rashid is between Ranjit and Manoj. Who would be at the extremes of the photograph? / dIR STFEY

TF TR e & fie @3 71 IR/, Wid & goa arff R 31 799, IR & orifl R 31 =S,
ofta ok 7wt & 9 § 31 awdik $t sifow Hiamsi w o= g2
® Manoj and Shekhar / TS 3R AWR
* Rashid and Shekhar / I20g 3R VR
® Rashid and Manoj / ¥t 3R H-Iw
® Manoj and Ranjit / H-IST 3R Ioiid
Correct Answer :-Manoj and Shekhar / Aol 3fR QWR
96)
Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / dg &Y gﬁﬁ
St ad @) =fRe | R T vy & gWH B:

If we go to zoo, then we can see an elephant. / gfe v ﬁ%mwaﬁ, a g9 st Pl 39 IPd %'I

® |f we go to the zoo, then we cannot see an elephant. /?Tﬁ' ?H ﬁl’%’qTﬂ? mﬁ, a °H ETQﬂ &I :r(ﬂ a@
q&od |

® |If we do not go to the zoo, then we cannot see an elephant. /Tlﬁ TH ﬁ%ﬂT‘FR :Iﬁ \_rl'la, a BH ST?ﬁ &I
&l ¢@ IPd|

® |f we saw an elephant, then we had gone to the zoo. /ﬂﬁ E'Fﬁ ET?ﬂ aET, a ) ﬁ-lﬁ-‘a'QTER' T Y|

® |f we didn’t see an elephant, then we haven’t gone to the zoo. /Tflﬁ{ E'Fﬁ BT?ﬁ T-Iﬁ aET, ?ﬁ 'H ﬁl’%'QT‘ER'
T8l T 9|

Correct Answer :-If we do not go to the zoo, then we cannot see an elephant. / Tﬁ% °H ﬁ'-lﬁ'{q'l'ﬂ'\’ ﬂﬁ \_rlﬁ,
a1 g9 g1t ! 181 ¢ Jdd |

97)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
Iha &t aF ot =R F TR A M vu= & JuE B



This animal has a shell or it isn't a turtle. This animal is a turtle. / g9 WHaR & U W% q1 gg
HQAT T8 81 I8 TR Hg3 gl

® This animal has a shell. / 9 SITHdY & UTY X %I

® This animal likes to swim. / § SITHdY &I a?_"IT m %I

® This animal doesn’t have a shell. / S SITHARY & Uy T qﬁ %’I

® None of the above. / mﬂﬁ aﬁ'sf T'Iﬁ
Correct Answer :-This animal has a shell. / 9 SITHaR & U 9 2|
98)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given. / 9§ ®Yd ﬂﬁ‘a <
f&d 4 wy=l vd el & IR | |81 &

Statements: / BY:

Some tables are fables. / T AW AT 3
All fables are cables. / G4t ®gI-Al Had 2l
Conclusions: / e

I. All tables are cables. / I. G4 5 $aa 2|

II. Some tables are cables. / II. 99 U Had |
® laloneis true /®dd | I 8
® llaloneis true / $dd Il T 8
® Bothland IIaretrue/aﬁIGﬁ?IIW%
[ NeitherINorIIistrue/T'[?I-)flGﬁTanIW%

Correct Answer :-ll alone is true / 5dd 1| I &

99)
Question Stimulus :-

Select the option that is true about the statements and conclusions given: / 98 Y= gfd &

23 T Y=l vd frepuf & TR A 98t §:
Statements: / ®YH:

Some pink are ruby. / $9 ﬂﬁ'l‘cﬁ?ﬂ%l



Some pink are garnet. / P9 ﬂﬂ'ﬁﬁ e B
Conclusions: / fAwpd:

I. Some garnets are ruby. / $9 IET W?I
II1. All garnets are ruby. / Tt e '\’W%'I

® Only conclusion | follows /W forem IECANGI %

® Only conclusion Il follows / pad frsey 1| freedr %

® Both conclusion | and Il follows /ﬁmmf | Gﬁ? 1l a:ﬁ ﬁlﬁa %

® None of the conclusion I and Il follows / forst | 3T 1 & @ aﬁ'é T-Iﬁ A %
Correct Answer :-None of the conclusion I and Il follows / Y | 3R 11 & & ﬁé o1 Freadr %
100)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ E[ﬁl'a il
33 T Hy=l vd el & IR A I |

Statements: / PYH:

All my neighbours are very friendly / v gt U@ﬁ qggd LRI %
Richard is not friendly / s @F?ﬁ?r ﬂﬁ%

Conclusions: / fAwpd:

I. Richard is not my neighbour / ﬁiﬂéﬁ?ﬂﬁhﬁﬂﬁ%

II. Richard must be friendly / Rars Qgsha gi=r aifee

® Only conclusion I follows / Sad frewt | T ?
e Only conclusion Il follows / Pad frspd 1| frpadar &
e Both conclusion I and Il follows / =TT | Gﬁ? ] atﬁ IGEASG %

® None of the conclusion | and Il follows / fIs®d 1 3R 1 & A aﬁ'é Wt = Frpean
Correct Answer :-Only conclusion I follows / pad fspy | fAeadar 8



